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ÍÛæ˜Û¶ÛÛ : ¼ÛμÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä¨Û ÍÛÁõ”ÛÛ ™öé. 
 
1. (…) …é�õ Š©¸ÛÛ−ù�õ …é�õ¾Ûé •Û¿ÛÛ ÈÛÌÛë 500 …é�õ¾ÛÛé¶ÛÛ …é�õ …éÈÛÛ 5 …Ûé¦ÙøÁõ �õÛ˜ÛÛ ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û¶Ûà 

”ÛÁõà−ùà …×•Ûé ¾Ûæ�¿ÛÛ Ðü©ÛÛ. −ùÁéõ�õ …é�õ¾Û−ùà¥ø ÈÛÐüàÈÛ¤øà”Û˜ÛÙ ÄõÛ. 300 …ÛÈÛé ™öé …¶Ûé ÈÛÐü¶Û”Û˜ÛÙ 
†¶ÈÛé¶¤øÁõà ¾ÛæÅ¿Û¶ÛÛ 30 ¤ø�õÛ ›÷é¤øÅÛÛé …×−ùÛ›÷éÅÛ ™öé. ÈÛÍ©Ûä¶Ûà ”ÛÁõà−ùÝ�õ¾Û©Û …é�õ¾Û−ùà¥ø ÄõÛ. 500 ™öé. 
…ÛÜ¬ÛÙ�õ ÈÛÁõ−ùà ›÷¬¬ÛÛ¶Ûà •Û¨Û©ÛÁõà �õÁõÛé. 

  ÈÛÍ©Ûä¶Ûà ”ÛÁõà−ùà¾ÛÛ× 5% ÈÛ¤øÛÈÛ¶ÛÛé ÅÛÛ½Û ¾ÛéÇÈÛÈÛÛ �×õ¸Û¶Ûà¶ÛÛ ÍÛ×˜ÛÛÅÛ�õÛé ÅÛ–Ûä«Û¾Û 250 …é�õ¾ÛÛé¶Ûà 
”ÛÁõà−ùà …×•Ûé …Ûé¦ÙøÁõ ¾Ûæ�õÈÛÛ¶Ûä× ÜÈÛ˜ÛÛÁéõ ™öé. �õÛéÍ¤ø …é�õÛŠ¶¤ø¶¤ø ©ÛÁõà� éõ ©Û¾ÛÛÁõÛé …Ü½Û¸ÛóÛ¿Û ›÷¨ÛÛÈÛÛé. (10) 

 (¼Û) ¾Û›æ÷Áõ �õÛ¿ÛÙ“Û¾Û©ÛÛ …é¤øÅÛé ÉÛä× ? “½ÛÛÁõ©Ûà¿Û �õÛ¾Û−ùÛÁõÛé¶Ûà �õÛ¿ÛÙ“Û¾Û©ÛÛ …Ûé™öà ÐüÛéÈÛÛ …×•Ûé �éõ¤øÅÛÛ×�õ 
�õÛÁõ¨ÛÛé ›÷ÈÛÛ¼Û−ùÛÁõ ™öé.” ˜Û˜ÛÛÙ �õÁõÛé. (10) 

…¬ÛÈÛÛ 
 (…) ¡éö¶ÛàÍÛ ¾Ûé¶¿Ûä. � ×õ¸Û¶Ûà¶ÛÛé ÈÛÌÛÙ 2006-07 −ùÁõ¾¿ÛÛ¶Û ”ÛÁéõ”ÛÁõ ¬Û¿ÛéÅÛ ¸ÛÁõÛé“Û ”Û˜ÛÙ ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 

ÜÈÛ•Û©Û Áõ�õ¾Û  (ÄõÛ.) 
¸ÛÁõÛé“Û ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û 1,00,000 
¸ÛÁõÛé“Û ¾Û›æ÷Áõà 80,000 
©Û¸ÛÛÍÛ ”Û˜ÛÙ 90,000 
�õÛÁõ”ÛÛ¶ÛÛ ÍÛä̧ ÛÁõÜÈÛ¡ö¶Û ”Û˜ÛÙ 88,000 
¾ÛÉÛà¶Û Ü¶Û½ÛÛÈÛ”Û˜ÛÙ …¶Ûé –ÛÍÛÛÁõÛé 1,62,000 

  ”ÛÁéõ”ÛÁõ ¬Û¿ÛéÅÛÛ ¾Û›æ÷Áõ �õÛ¾Û�õÛ›÷¶ÛÛ �õÅÛÛ�õÛé 2,30,000 Ðü©ÛÛ. �õÛÁõ”ÛÛ¶ÛÛ¶ÛÛ ÍÛÛ¾ÛÛ¶¿Û �õÛ¾Û�õÛ›÷¶ÛÛ 
…ÛμÛÛÁéõ �õÛ¾Û−ùÛÁõ �õÅÛÛ�õ−ùà¥ø ÄõÛ. 2 ÅÛé”Ûé ¸ÛÁõÛé“Û”Û˜ÛÙ¶Ûà ÈÛÍÛæÅÛÛ©Û Ðü©Ûà. …Û ÍÛ¾Û¿Û −ùÁõ¾¿ÛÛ¶Û 
11,000 …é�õ¾ÛÛé¶Ûä× Š©¸ÛÛ−ù¶Û ¬Û¿Ûä× Ðü©Ûä× ›÷é ¸Ûí�õà 9,000 …é�õ¾ÛÛé¶Ûä× ÈÛé˜ÛÛ¨Û ¬Û¿Ûä× Ðü©Ûä×. š¿ÛÛÁéõ ˜ÛÛÅÛä 
�õÛ¾Û¶ÛÛ 1,000 ÍÛ¾ÛÛ¶Û …é�õ¾ÛÛé ›÷é¤øÅÛÛé …μÛÙ-©Ûí¿ÛÛÁõ ¾ÛÛÅÛ¶ÛÛé Í¤øÛé�õ Ðü©ÛÛé. �õÛÁõ¨ÛÛé¶Ûà ©Û¸ÛÛÍÛ �õÁõ©ÛÛ× 
¾ÛÛÅÛæ¾Û ¸Û¦øÀä× � éõ ¶ÛÜÐü ÈÛÍÛæÅÛ ¬Û¿ÛéÅÛ ¸ÛÁõÛé“Û”Û˜ÛÙ ¸Ûí�õà 60 ¤ø�õÛ ¸ÛÁõÛé“Û ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û …¶Ûé ¸ÛÁõÛé“Û 
¾Û›æ÷Áõà ”Û˜ÛÙ¶ÛÛ ÈÛμÛÛÁõÛ¶ÛÛ �õÛÁõ¨Ûé ¬Û¿ÛÛ Ðü©ÛÛ …¶Ûé ¼ÛÛ�õà¶ÛÛ 40 ¤ø�õÛ Ü¼Û¶Û�õÛ¿ÛÙ“Û¾Û©ÛÛ¶Ûé ÅÛàμÛé ¬Û¿ÛÛ 
Ðü©ÛÛ. 

  ¸ÛÁõÛé“Û ”Û˜ÛÙ¶Ûà �õ¾Û ÈÛÍÛæÅÛÛ©Û � éõ …ÜμÛ�õ ÈÛÍÛæÅÛÛ©Û¶Ûà ¸Û¦ø©ÛÁõ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé¾ÛÛ× � éõÈÛà Áõà©Ûé ¾ÛÛÈÛ›÷©Û 
…Û¸ÛÉÛÛé.  (10) 

 (¼Û) ÍÛ×˜ÛÛÅÛ�õà¿Û ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û¾ÛÛ× …μ¿Û¿Û¶ÛÈÛ’õ¶Ûà ÍÛäÍÛ×•Û©Û©ÛÛ ÍÛ¾Û›÷ÛÈÛÛé …¶Ûé ©Ûé¶Ûà ¾Û¿ÛÛÙ−ùÛ…Ûé 
›÷¨ÛÛÈÛÛé.  (10) 

 
2. (…) …é�õ ÈÛÍ©Ûä¶ÛÛ ÁõÍÛÛ¿Û¨Û¶ÛÛ Ü¾ÛËÛ¨Û¶Ûà ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û¶Ûà ¸Ûó¾ÛÛ¨Û¸Û¦ø©ÛÁõ ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : (10) 
   20% ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û M - Ü�õÅÛÛé −ùà¥ø ÄõÛ. 29 
   80% ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û N - Ü�õÅÛÛé −ùà¥ø ÄõÛ. 30 
   ¸Ûó¾ÛÛÜ¨Û©Û Š©¸ÛÛ−ù¶Û - Š©¸ÛÛ−ù¶Û¶ÛÛ 80% 
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  …Û ¾Ûä°ù©Û −ùÁõ¾¿ÛÛ¶Û ÈÛ¸ÛÁõÛÉÛ ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ¬Û¿ÛÛé Ðü©ÛÛé : 
   ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û M 100 Ü�õÅÛÛé, Ü�õÅÛÛé −ùà¥ø ÄõÛ. 25 
   ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û N 300 Ü�õÅÛÛé, Ü�õÅÛÛé −ùà¥ø ÄõÛ. 35 
  ÍÛÛÁõÛ Š©¸ÛÛ−ù¶Û¶ÛÛ …é�õ¾ÛÛé¶Ûä× ÈÛ›÷¶Û 360 Ü�õÅÛÛé Ðü©Ûä×. 
  •Û¨Û©ÛÁõà �õÁõÛé : 
  (1) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û (2) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û Ü¾ÛËÛ¨Û ÜÈÛ˜ÛÅÛ¶Û 
  (3) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û Š¸Û›÷ ÜÈÛ˜ÛÅÛ¶Û 
 (¼Û) ÅÛéÈÛàÍÛ � ×õ¸Û¶Ûà ÜÅÛÜ¾Û¤éø¦ø¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà � äõÅÛ ÈÛé˜ÛÛ¨Û ÜÈÛ˜ÛÅÛ¶Û, ÈÛé˜ÛÛ¨Û Ü¾ÛËÛ¨Û ÜÈÛ˜ÛÅÛ¶Û 

…¶Ûé ÈÛé˜ÛÛ¨Û ›÷¬¬ÛÛ ÜÈÛ˜ÛÅÛ¶Û¶Ûà •Û¨Û©ÛÁõà �õÁõÛé. (10) 
  (1) ¾ÛÛ˜ÛÙ 2007 – −ùÁõ¾¿ÛÛ¶Û ¸Ûó¾ÛÛÜ¨Û©Û ÈÛé˜ÛÛ¨Û : 
   ÈÛÍ©Ûä … – 500 …é�õ¾ÛÛé – …é�õ¾Û−ùà¥ø ÈÛé̃ ÛÛ¨Û Ý�õ¾Û©Û ÄõÛ. 60 
   ÈÛÍ©Ûä ¼Û – 800 …é�õ¾ÛÛé – …é�õ¾Û−ùà¥ø ÈÛé̃ ÛÛ¨Û Ý�õ¾Û©Û ÄõÛ. 80 
   ÈÛÍ©Ûä �õ – 700 …é�õ¾ÛÛé – …é�õ¾Û−ùà¥ø ÈÛé̃ ÛÛ¨Û Ý�õ¾Û©Û ÄõÛ. 100 
   � äõÅÛ :  2000 …é�õ¾ÛÛé 
  (2) ¾ÛÛ˜ÛÙ 2007 – −ùÁõ¾¿ÛÛ¶Û ”ÛÁéõ”ÛÁõ ¬Û¿ÛéÅÛ ÈÛé˜ÛÛ¨Û : 
   ÈÛÍ©Ûä … – 600 …é�õ¾ÛÛé – …é�õ¾Û−ùà¥ø ÈÛé̃ ÛÛ¨Û Ý�õ¾Û©Û ÄõÛ. 55 
   ÈÛÍ©Ûä ¼Û – 750 …é�õ¾ÛÛé – …é�õ¾Û−ùà¥ø ÈÛé̃ ÛÛ¨Û Ý�õ¾Û©Û ÄõÛ. 90 
   ÈÛÍ©Ûä �õ – 450 …é�õ¾ÛÛé – …é�õ¾Û−ùà¥ø ÈÛé̃ ÛÛ¨Û Ý�õ¾Û©Û ÄõÛ. 105 
   � äõÅÛ : 1800 …é�õ¾ÛÛé 

…¬ÛÈÛÛ 
 (…) ¶Ûà˜Ûé¶ÛÛ …Û×�õ¦øÛ ¸ÛÁõ¬Ûà ¾Û›æ÷Áõà ÜÈÛ˜ÛÅÛ¶ÛÛé¶Ûà •Û¨Û©ÛÁõà �õÁõÛé. (10) 
  (1) ¸Ûó¾ÛÛÜ¨Û©Û ¾Û›æ÷Áõà : 
   ÈÛÍ©Ûä X – 90 �õÛ¾Û−ùÛÁõÛé – �õÅÛÛ�õ−ùà¥ø ÄõÛ. 5 ÅÛé”Ûé. 
   ÈÛÍ©Ûä Y – 110 �õÛ¾Û−ùÛÁõÛé – �õÅÛÛ�õ−ùà¥ø ÄõÛ. 7 ÅÛé”Ûé. 
  (2) ”ÛÁéõ”ÛÁõ ÈÛé©Û¶Û : 
   ÈÛÍ©Ûä X – 80 �õÛ¾Û−ùÛÁõÛé – �õÅÛÛ�õ−ùà¥ø ÄõÛ. 5.50 ÅÛé”Ûé. 
   ÈÛÍ©Ûä Y – 120 �õÛ¾Û−ùÛÁõÛé – �õÅÛÛ�õ−ùà¥ø ÄõÛ. 6 ÅÛé”Ûé. 
  (3) …×−ùÛ›÷éÅÛ �õÅÛÛ�õÛé – 1,200, ”ÛÁéõ”ÛÁõ �õÅÛÛ�õÛé – 1,000. 
  (4) …×−ùÛ›÷éÅÛ � äõÅÛ Š©¸ÛÛ−ù¶Û – 12,000 …é�õ¾ÛÛé. 
   ¸Ûó¾ÛÛÜ¨Û©Û ¶Ûä�õÍÛÛ¶Û : 20 ¤ø�õÛ. 
   ”ÛÁéõ”ÛÁõ ¶Ûä�õÍÛÛ¶Û : 2000 …é�õ¾ÛÛé. 
 (¼Û) ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û …é¤øÅÛé ÉÛä× ? �¿ÛÛ× �õÛÁõ¨ÛÛéÍÛÁõ ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶ÛÛé Š−Õù½ÛÈÛé ™öé ©Ûé 

ÍÛ¾Û›÷ÛÈÛÛé.  (10) 
 
3. •ÛäÂú ÜÅÛÜ¾Û¤éø¦ø¶Ûà Š©¸ÛÛ−ù¶Û “Û¾Û©ÛÛ ÈÛÛÜÌÛÙ�õ 1,20,000 …é�õ¾ÛÛé¶Ûà ™öé. 2006-07¶ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø �×õ¸Û¶Ûà…é 

©Ûé¶Ûà ÍÛÛ¾ÛÛ¶¿Û Š©¸ÛÛ−ù¶Û ÉÛÜ�©Û 80 ¤ø�õÛ …×−ùÛ›÷éÅÛ ™öé. (20) 
 ¸Û¦ø©ÛÁõ¶Ûé ÅÛ•Û©Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 
   ¸Ûó©¿Û“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û -  …é�õ¾Û−ùà¥ø ÄõÛ. 14 
   ¸Ûó©¿Û“Û ¾Û›æ÷Áõà -  …é�õ¾Û−ùà¥ø ÄõÛ. 10 
   �õÛÁõ”ÛÛ¶ÛÛ ˜ÛÜÅÛ©Û ”Û˜ÛÙ -  …é�õ¾Û−ùà¥ø ÄõÛ. 6 
   �õÛÁõ”ÛÛ¶ÛÛ ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ  ÄõÛ. 1,92,000 
   ÈÛé˜ÛÛ¨Û …¶Ûé ÈÛÐüàÈÛ¤øà ¸ÛÁõÛé“Û ”Û˜ÛÙ : 
    ˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÙ -  …é�õ¾Û−ùà¥ø ÄõÛ. 4 
    ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ  ÄõÛ. 48,000 
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 ÈÛÌÛÙ 2006-07¶ÛÛ ÈÛÌÛÙ¶Ûà ÍÛ×˜ÛÛÅÛ¶Û ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 
   Š©¸ÛÛÜ−ù©Û …é�õ¾ÛÛé – 1,00,000 …é�õ¾ÛÛé. 
   ÈÛé˜ÛÛ¨Û – …é�õ¾Û−ùà¥ø ÄõÛ. 50 ÅÛé”Ûé – 80,000 …é�õ¾ÛÛé. 
   ©Ûí¿ÛÛÁõ ¾ÛÛÅÛ¶ÛÛé ÉÛÄ…Û©Û¶ÛÛé Í¤øÛé�õ – 10,000 …é�õ¾ÛÛé. 
 ¸Û¦ø©ÛÁõ ÜÈÛÊÅÛéÌÛ� éõ −ùÉÛÛÙÈ¿Ûä× � éõ ˜ÛÜÅÛ©Û �õÛÁõ”ÛÛ¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÛÙ ÄõÛ. 40,000 ÈÛμÛä ”Û˜ÛÛÙ¿ÛÛ Ðü©ÛÛ. ¸Û¦ø©ÛÁõ 

ÍÛ×¼Û×μÛà …¶¿Û �õÛéˆ ÜÈÛ˜ÛÅÛ¶ÛÛé ¶Û Ðü©ÛÛ×. 
 •Û¨Û©ÛÁõà �õÁõÛé : 
 1. ÈÛÌÛÙ 2006–07 ¾ÛÛ¤éø ÍÛ¾Û©Ûæ¤ø Ý¼Û−äù ÉÛÛéμÛÛé. 
 2. ÈÛÌÛÙ 2006–07 ¾ÛÛ¤éø …é�õ¾Û−ùà¥ø …¶Ûé �äõÅÛ ¸Û¦ø©ÛÁõ-−ùÉÛÛÙÈÛ©ÛÛ …ÛÈÛ�õ ¸ÛªÛ�õÛé ÍÛ¾ÛÛÈÛéÉÛà ¸Û¦ø©ÛÁõ 

¸Û±ùÜ©Û …¶Ûé ÍÛà¾ÛÛ×©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û ¸Ûó¾ÛÛ¨Ûé ©Ûí¿ÛÛÁõ �õÁõÛé. 
 3. ¼Û¶¶Ûé ¸Û±ùÜ©Û…Ûé ÈÛ˜˜Ûé¶ÛÛ ¶ÛºõÛ¶ÛÛé ©ÛºõÛÈÛ©Û ÍÛ¾Û›÷ÛÈÛÛé. 

…¬ÛÈÛÛ 
3. ˆÉÛÛ ÜÅÛÜ¾Û¤éø¦ø ©Ûé¶ÛÛ ÜÐüÍÛÛ¼ÛÛé ÍÛ×�õÜÅÛ©Û ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û ¸Ûó¾ÛÛ¨Ûé ÁõÛ”Ûé ™öé. ©ÛÛ. 1-4-2006 …¶Ûé       

©ÛÛ. 31-3-2007 ¶ÛÛ ÁõÛé›÷¶Ûà ¼ÛÛ�õà…Ûé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé Ðü©Ûà : (20) 
ÜÈÛ•Û©Û 1–4–2006 (ÄõÛ.) 31–3–2007 (ÄõÛ.) 

ÉÛéÁõ¾Ûæ¦øà 4,12,000 5,02,000 
ÁõÛé�õ¦ø ÜÍÛÅÛ�õ 12,000 7,000 
¼Ûê�õ ÜÍÛÅÛ�õ 15,000 ? 
¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û Ü¶Û¿Û×ªÛ¨Û ”ÛÛ©Ûä× 14,000 16,000 
˜ÛÛÅÛä�õÛ¾Û Ü¶Û¿Û×ªÛ¨Û ”ÛÛ©Ûä× 23,000 41,000 
©Ûí¿ÛÛÁõ ¾ÛÛÅÛ Í¤øÛé�õ ”ÛÛ©Ûä× 45,000 ? 
−éùÈÛÛ−ùÛÁõ ”ÛÛ©Ûä× 30,000 ? 
ÅÛé¨Û−ùÛÁõ ”ÛÛ©Ûä× 21,000 29,000 
�õÛ¿Û¾Ûà Ü¾ÛÅÛ�õ©Û ”ÛÛ©Ûä× 4,20,000 5,70,000 
–ÛÍÛÛÁõÛ ›÷Ûé•ÛÈÛÛˆ ”ÛÛ©Ûä× 1,04,000 1,56,000 
¶ÛºõÛ-¶Ûä�õÍÛÛ¶Û ”ÛÛ©Ûä× 22,000 ? 

  ÈÛÌÛÙ −ùÁõ¾¿ÛÛ¶Û¶ÛÛ È¿ÛÈÛÐüÛÁõÛé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé Ðü©ÛÛ :  
Š©¸ÛÛ−ù�õ ¾Û›æ÷Áõà-˜Ûé�õ¬Ûà ˜Ûæ�õÈÛéÅÛ : ÄõÛ. 
 ¸Ûó©¿Û“Û ¾Û›æ÷Áõà 55,000 
 ¸ÛÁõÛé“Û ¾Û›æ÷Áõà 13,000 
 68,000 
¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà ŠμÛÛÁõ ”ÛÁõà−ùà 1,75,000 
Š©¸ÛÛ−ù¶Û …×•Ûé …Û¸ÛéÅÛ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 1,65,000 
ÍÛ¾ÛÛÁõ�õÛ¾Û …×•Ûé …Û¸ÛéÅÛ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 8,000 
©Ûí¿ÛÛÁõ ¾ÛÛÅÛ¶Ûà ¸Û¦ø©ÛÁõ 3,09,000 
ÉÛéÁõ¾Ûæ¦øà¶ÛÛ× ¶ÛÛ¨ÛÛ× ¼Ûê�õ¾ÛÛ× ›÷¾ÛÛ 90,000 
�õÛÁõ”ÛÛ¶ÛÛ ¸ÛÁõÛé“Û”Û˜ÛÙ¶Ûà ÈÛÍÛæÅÛÛ©Û 98,000 
�õÛÁõ”ÛÛ¶ÛÛ ¸ÛÁõÛé“Û”Û˜ÛÙ ˜Ûé�õ¬Ûà ˜Ûæ�õÈ¿ÛÛé 25,000 
ÈÛÐüàÈÛ¤øà ¸ÛÁõÛé“Û”Û˜ÛÙ ˜Ûæ�õÈ¿ÛÛé 14,000 
ÈÛé˜ÛÛ¨Û-ÜÈÛ©ÛÁõ¨Û ¸ÛÁõÛé“Û”Û˜ÛÙ ˜Ûæ�õÈ¿ÛÛé 9,000 
ŠμÛÛÁõ ÈÛé˜ÛÛ¨Û 3,70,000 
ÅÛé¨Û−ùÛÁõÛé¶Ûé ˜Ûé�õ¬Ûà ˜Ûæ�õÈ¿ÛÛ 1,67,000 
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−éùÈÛÛ−ùÛÁõÛé ¸ÛÛÍÛé¬Ûà ¾ÛÇéÅÛ Áõ�õ¾Û :  
 ˜Ûé�õ¬Ûà 3,38,000 
 ÁõÛé�õ¦éø¬Ûà 22,000 
�õÛ¿Û¾Ûà Ü¾ÛÅÛ�õ©ÛÛé¶Ûà ˜Ûé�õ¬Ûà ”ÛÁõà−ùà 1,50,000 
…Û¸ÛéÅÛ −ùÛ¶Û 4,000 
˜Ûé�õ¬Ûà ˜Ûæ�õÈÛéÅÛ …ÛÈÛ�õÈÛéÁõÛé 14,000 
ÅÛÛé¶Û ¸ÛÁõ ¼Ûê�õ È¿ÛÛ›÷ 1,000 

 ÈÛÐüàÈÛ¤øà ¸ÛÁõÛé“Û”Û˜ÛÛÙ ©Ûí¿ÛÛÁõ ¾ÛÛÅÛ ”ÛÛ©Ûé ŠμÛÛ¿ÛÛÙ Ðü©ÛÛ.  
 ÍÛ×�õÜÅÛ©Û ”ÛÛ©ÛÛÈÛÐüà¾ÛÛ× ›÷ÄõÁõà ”ÛÛ©ÛÛ× ¼Û¶ÛÛÈÛÛé …¶Ûé 31¾Ûà ¾ÛÛ˜ÛÙ 2007¶ÛÛ ÁõÛé›÷¶Ûä× �õÛ˜Ûä× ÍÛÁõÈÛí¿Ûä× ©Ûí¿ÛÛÁõ �õÁõÛé. 
 
4. ¶Û×Ü−ù©ÛÛ ÜÅÛÜ¾Û¤éø¦ø ªÛ¨Û ¸Ûé−ùÛÉÛÛé P, Q …¶Ûé R ¶Ûä× Š©¸ÛÛ−ù¶Û �õÁéõ ™öé ›÷é …×•Ûé¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé :  

ÜÈÛ•Û©Û P Q R 
Š©¸ÛÛÜ−ù©Û …é�õ¾ÛÛé (ÈÛÛÜÌÛÙ�õ) 5,000 10,000 15,000 
…é�õ¾Û−ùà¥ø ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ ÄõÛ. 10 15 20 
…é�õ¾Û−ùà¥ø ¾Û›æ÷Áõà ”Û˜ÛÙ ÄõÛ. 15 20 25 
…é�õ¾Û−ùà¥ø ¿ÛÛ×ÜªÛ�õ �õÅÛÛ�õ −ùÁõ ÄõÛ. 4 4 4 
…é�õ¾Û−ùà¥ø ¸Ûó©¿Û“Û ¾Û›æ÷Áõ �õÅÛÛ�õÛé 5 5 5 
� äõÅÛ ¾ÛÉÛà¶Û �õÅÛÛ�õÛé 20,000 40,000 60,000 
� äõÅÛ ¾Û›æ÷Áõ �õÅÛÛ�õÛé 25,000 50,000 75,000 
”ÛÁõà−ùà¶ÛÛ …Ûé¦ÙøÁõ¶Ûà ÍÛ×”¿ÛÛ 60 75 105 
•ÛÛé¥øÈÛ¨Ûà¶Ûà ÍÛ×”¿ÛÛ 20 80 100 

 * ¼ÛμÛà ›÷ ¸ÛóÈÛèÜ«Û…Ûé¶ÛÛé ¸ÛÁõÛé“Û”Û˜ÛÙ ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé :   
 ÄõÛ. 
›÷¬¬ÛÛ …ÛμÛÛÜÁõ©Û 3,30,000 
”ÛÁõà−ùà …ÛμÛÛÜÁõ©Û 2,40,000 
•ÛÛé¥øÈÛ¨Ûà …ÛμÛÛÜÁõ©Û 2,88,000 
 8,58,000 

 * ¸ÛÁõÛé“Û ”Û˜ÛÛÙ…Ûé ¸Ûó©¿Û“Û ¾Û›æ÷Áõà¶ÛÛ �õÅÛÛ�õÛé ¸ÛÁõ …ÛμÛÛÜÁõ©Û ™öé. 
  …é�õ¾Û−ùà¥ø …¶Ûé � äõÅÛ ¸Û¦ø©ÛÁõ¶Ûä× ¸ÛªÛ�õ ¸Ûó¨ÛÛÜÅÛ�õÛ•Û©Û ¸Û±ùÜ©Û…é …¶Ûé ¸ÛóÈÛèÜ«Û ¸Û¦ø©ÛÁõ …ÛμÛÛÜÁõ©Û 

¸Û±ùÜ©Û…é ©Ûí¿ÛÛÁõ �õÁõÛé.    (20) 
…¬ÛÈÛÛ 

4. (…) ¶Ûà˜Ûé −ùÉÛÛÙÈÛéÅÛ …Û� èõÜ©Û…Ûé ¸Û¦ø©ÛÁõ¶ÛÛ× �õ¿ÛÛ ÈÛ•Ûâ�õÁõ¨Û¶Ûé −ùÉÛÛÙÈÛé ™öé ? ©Ûé ›÷¨ÛÛÈÛÛé …¶Ûé …Û −ùÁéõ�õ 
¸Û¦ø©ÛÁõ¶Ûé ÜÈÛ•Û©ÛÈÛÛÁõ ÍÛ¾Û›÷ÛÈÛÛé.  (20) 

 
 (¼Û) “¸ÛóÍ©Ûä©Û ¸Û¦ø©ÛÁõ …é ½Ûæ©Û�õÛÇ¶ÛÛé ”Û˜ÛÙ ™öé. …¶Ûé …¸ÛóÍ©Ûä©Û ¸Û¦ø©ÛÁõ ½ÛÜÈÛÌ¿Û¶ÛÛé ”Û˜ÛÙ ™öé.” – …Û 

ÜÈÛμÛÛ¶Û ÍÛÛ˜Ûä× ™öé �éõ ”ÛÛé¤ä×ø ©Ûé ›÷¨ÛÛÈÛÛé. ¸ÛóÍ©Ûä©Û …¶Ûé …¸ÛóÍ©Ûä©Û ¸Û¦ø©ÛÁõ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û Š−ùÛÐüÁõ¨Û 
³ùÛÁõÛ ÍÛ¾Û›÷ÛÈÛÛé. 

 
5. (…) ¾ÛæÅ¿Û ÜÈÛÊÅÛéÌÛ¨Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›÷ÛÈÛà, ©Ûé¶ÛÛ ÜÈÛÜÈÛμÛ ©Û¼Û‘õÛ…Ûé ÈÛ¨ÛÙÈÛÛé.    
 (¼Û) “¸Û¦ø©ÛÁõ …×�äõÉÛ …¶Ûé ¸Û¦ø©ÛÁõ –Û¤øÛ¦øÛé” ¼Û¶¶Ûé …é�õ¼Ûà›÷Û¶ÛÛ× ÍÛ¾ÛÛ¶ÛÛ¬Ûâ ÉÛ¼−ùÛé ™öé. …Û ÜÈÛμÛÛ¶Û¶Ûà 

¿ÛÛé•¿Û©ÛÛ ©Û¸ÛÛÍÛÛé.   (20) 
…¬ÛÈÛÛ 

 (…) ¼Û•ÛÛ¦ø¶ÛÛ× Š−Õù½ÛÈÛ Í¬ÛÛ¶ÛÛé ÜÈÛÉÛé ˜Û˜ÛÛÙ �õÁõÛé. 
 (¼Û) “Ü›÷©Û (JIT)¶Ûä× …¾ÛÅÛà�õÁõ¨Û  …ÈÛÁõÛéμÛ¿Ûä�©Û ™öé.” – …Û ÜÈÛμÛÛ¶Û¶Ûà ÍÛ¾Ûà“ÛÛ �õÁõÛé. (20) 
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Cost Accounting – I 
 

Time : 3 Hours]   [Max. Marks : 100 
 
Instruction : All questions carry equal marks. 
 
1. (A) A manufacturing unit had placed 5 orders of 500 units each for purchasing raw 

materials last year. The administrative cost is Rs. 300 per unit and the carrying 
cost is estimated 30 percent of inventory value. The purchase price of product is 
Rs. 500 per unit. 

  Calculate the economic order quantity. 
   The Company Management is thinking to place an order for minimum of 

250 units to get the benefit of 5% discount on purchase of product. 
  As a Cost Accountant, state your opinion. (10) 
 (B) What is meant by Labour Efficiency ? “Several reasons are responsible for the 

low efficiency of Indian Workers.” Discuss. (10) 
OR 

 (A) The actual overhead costs of ZENIS Manufacturing Company are as under during 
the year 2006-’07. 
                   Particulars Amount  (Rs.) 
Indirect Material 1,00,000 
Indirect Wages 80,000 
Inspection cost 90,000 
Factory supervision cost 88,000 
Machine maintenance and depreciation 1,62,000 

  The actual hours worked were 2,30,000 hours. According to normal working of 
the factory, the overhead cost was recovered at Rs. 2 per labour hour. During this 
period 11,000 units were produced, out of these 9,000 units were sold.                 
While 1,000 equivalent units of work–in–progress were in the stock. On analyzing 
the reasons, it was found that 60 per cent of the unabsorbed overheads were due to 
defective planning and rest 40 percent were incurred due to inefficiency. How 
would be treated under absorbed and over-absorbed cost in Cost Accounting ? (10) 

 (B) Explain the relevance of Learning Curve in Management Accounting System and 
state its limitations. (10) 

 
2. (A) Standard cost of a certain chemical mixture of material in a process is as under : (10) 
   20% Material M at Rs. 29 per kg. 
   80% Material N at Rs. 30 per kg. 
  Standard production : 80% of output. 
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  During a period, the following quantity of material has been used : 
   Material M …. 100 kg, at Rs. 25 per kg. 
   Material N …. 300 kg, at Rs. 35 per kg. 
  The weightage of good units produced were 360 kg. 
  Calculate : 
  (1) Material Cost Variance. (2) Material Mix Variance. 
  (3) Material Yield Variance. 
 (B) From the following information of Lewis Ltd., calculate the total sales variance, 

Sales mix variance and sales volume variance. (10) 
  (1) Standard sales during March, 2007 : 
   Product A – 500 units – Sales price Rs. 60 per unit. 
   Product B – 800 units – Sales price Rs. 80 per unit. 
   Product C – 700 units – Sales price Rs. 100 per unit. 
   Total :        2000 units. 
  (2) Actual Sales during March, 2007 : 
    Product A – 600 units – Sales price Rs. 55 per unit. 
    Product B – 750 units – Sales price Rs. 90 per unit. 
    Product C – 450 units – Sales price Rs. 105 per unit. 
      Total :     1800  units 

OR 
 (A) From the following data, calculate the labour variances. (10) 
  (1) Standard wages : 
    Product X – 90 labours at Rs. 5 per hour. 
    Product Y – 110 labours at Rs. 7 per hour. 
  (2) Actual wages : 
   Product X – 80 labours at Rs. 5.50 per hour. 
   Product Y – 120 labours at Rs. 6 per hour. 
  (3) Estimated hours – 1,200, Actual hours – 1,000. 
  (4) Estimated total production – 12,000 units. 
   Standard Loss : 20 per cent. 
   Actual Loss : 2,000 units. 
 (B) What is meant by fixed overhead cost variance ? Explain for which reasons the 

fixed overhead cost variances are incurred. (10) 
 
3. Guru Ltd., has a production capacity of 1,20,000 units per year. Normal capacity of 

production is estimated 80 per cent for the year 2006–07.  
 Information related to cost is as follows : 
   Direct Materials at Rs. 14 per unit. 
   Direct Wages at Rs. 10 per unit. 
   Factory variable cost at Rs. 6 per unit. 
   Factory fixed overhead cost Rs. 1,92,000. 
   Sales & Administration overhead cost : 
    Sales variable cost of Rs. 4 per unit. 
    Fixed Overhead cost Rs. 48,000. 
 The management information for the year 2006–07 is as under : 
   Units produced – 1,00,000 units. 
   Sales – Rs. 50 per unit – 80,000 units. 
   Opening Stock of finished goods – 10,000 units. 
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 The Cost Analyst has shown that the actual variable factory overhead costs were spent 
Rs. 40,000 more. There were no any other variances relating to costs. 

 Calculate : 
 1. Break Even Point for the year 2006–07. 
 2. Prepare income statements showing per unit and total cost under Absorption 

Costing and Marginal Costing for the year 2006-07. 
 3. Explain the difference of profits between both methods. 

OR 
  ISHA Ltd., keeps its accounts according to Integrated Accounting System. (20) 
  The balances as on 1-4-2006 and 31-3-2007 were as under : 

Particulars 1–4–2006 
Rs. 

31–3–2007 
Rs. 

Share Capital 4,12,000 5,02,000 
Cash balance 12,000 7,000 
Bank Balance 15,000 ? 
Store Ledger Control A/c. 14,000 16,000 
Work–in–progress Ledger Control A/c. 23,000 41,000 
Finished goods Ledger A/c. 45,000 ? 
Debtors A/c. 30,000 ? 
Creditors A/c. 21,000 29,000 
Fixed Assets A/c. 4,20,000 5,70,000 
Depreciation Provision A/c. 1,04,000 1,56,000 
Profit & Loss A/c. 22,000 ? 

  Transactions during the year 2006–07 were as under :  
Production wages : Paid by cheque Rs. 
 Direct wages 55,000 
 Indirect wages 13,000 
 68,000 
Material purchased on Credit 1,75,000 
Material issued to Production 1,65,000 
Material issued to Repairs 8,000 
Cost of finished goods 3,09,000 
Share Capital amount credited to Bank 90,000 
Factory overhead recovered 98,000 
Factory overhead paid by cheque 25,000 
Administrative overhead cost paid 14,000 
Sales & distribution overhead cost paid 9,000 
Credit Sales 3,70,000 
Creditors paid by cheques 1,67,000 
Amount received from debtors :  
 By Cheques 3,38,000 
 By Cash 22,000 
Fixed Assets purchased by cheque 1,50,000 
Donation given  4,000 
Income tax paid by cheque 14,000 
Bank Interest on Loan 1,000 

 The Administration overhead was debited to finished goods A/c. Prepare necessary 
Accounts in Integrated Ledger Accounts and a Trial Balance as on 31st March, 2007. 
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4. Nandita Ltd., manufacturers three products P, Q & R. The related information is as 
under : 

Particulars P Q R 
Annual production (units) 5,000 10,000 15,000 
Material cost per unit (Rs.) 10 15 20 
Labour cost per unit (Rs.) 15 20 25 
Machine hours rate per unit 
(Rs.) 

4 4 4 

Direct Labour hours per unit 5 5 5 
Total Machine hours 20,000 40,000 60,000 
Total Labour hours 25,000 50,000 75,000 
No. of Purchasing orders 60 75 105 
No. of Machine set–ups 20 80 100 

 * The overhead expenses of all activities are as under :   
 Rs. 
Quantity basis 3,30,000 
Purchase basis 2,40,000 
Set–up basis 2,88,000 
 8,58,000 

 * The overhead expenses depend on labour hours. 
  Prepare statement per unit and total cost on tradition and activity based costing. (20) 

OR 
4. (a) Which classification of cost is presented by the following figures ? Explain each 

cost in detail.  

 
 (b) “Relevant Cost is a Cost of past while irrelevant is a cost of future.” State whether 

this statement is correct or incorrect. Explain difference between relevant and 
irrelevant cost with illustration. 

5. (A) Explain the meaning of value analysis and describe its different phases.   
 (B) “Cost control and cost reduction are synonym of each other”. Examine the 

authenticity of this statement.  (20) 
OR 

 (A) Discuss about sources of Waste. 
 (B) “The implementation of JIT is obstacle oriented.” Evaluate this statement. (20) 
 

    
 

 


